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1. B 2. C 3. A 4. B

5. C 6. A 7. A 8. C

9. B 10. D 11. B 12. C

13. C 14. A 15. D 16. A

17. C 18. A 19. B 20. A

Q.1 India has .............. of total world population.

(A) 17.7 % (B) 16.7 %

(C) 18.2 % (D) 20 %

Q.2 Literacy rate in India according to 2001 census

is -

(A) 55.3 % (B) 62.25 %

(C) 74.05 % (D) 67 %

Q.3 Kerala's literacy rate is -

(A) 90.92 % (B) 100 %

(C) 95 % (D) 97 %

Q.4 The percentage  of children below 15 years is-

(A) 35.20 % (B) 34.33 %

(C) 34.44 % (D) 50 %

Q.5 The percentage of senior citizen is -

(A) 9.6 % (B) 6.10 %

(C) 6.97 % (D) 10 %

Q.6 The percentage of working population is -

(A) 63 % (B) 57.35 %

(C) 56.8 % (D) 50 %

Q.7 What is the marriage age for boys and girls -

(A) 21 yrs & 18 yrs

(B) 15 yrs and 10 yrs

(C) 14 yrs and 12 yrs

(D) all the above

Q.8 What is life expectancy in India ?

(A) 55 yrs (B) 50 yrs

(C) 61 yrs (D) 67 yrs

Q.9 Which state has the highest literacy level -

(A) Rajasthan (B) Gujarat

(C) Punjab (D) Kerala

Q.10 Which state has the lowest literacy level -

(A) Karnataka (B) Tamil Nadu

(C) Haryana (D) Bihar

Q.11 According to 2011 census the sex ratio in India

is -

(A) 950 (B) 940

(C) 960 (D) 970

Q.12 Name the state having the highest density of

population -

(A) Punjab (B) Haryana

(C) West Bengal (D) Rajasthan

Q.13 Name the state having the lowest density of

population -

(A) Rajasthan

(B) Uttar Pradesh

(C) Arunachal Pradesh

(D) Bihar

Q.14 What is the annual growth rate of population

of India -

(A) 1.76 % (B) 5 %

(C) 7 % (D) 10 %

Q.15 Which is the most densely populated country

of the world -

(A) Pakistan (B) Bhutan

(C) Nepal (D) India

Q.16 Which is the most populous state of India -

(A) Uttar Pradesh (B) West Bengal

(C) Bihar (D) Punjab

Q.17 Which is the least populous state of India -

(A) Haryana (B) Tamil Nadu

(C) Sikkim (D) Madhya Pradesh

Q.18 What is India share in total area of the world -

(A) 2.4 % (B) 3.3 %

(C) 5.5 % (D) 6.2 %

Q.19 The position of India in terms of population

size -

(A) First (B) Second

(C) Third (D) Fourth

Q.20 Total population of India according to 2011

census -

(A) 1, 210 million (B) 900 million

(C) 7500 million (D) 1200 million
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